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Case Scenario — [ -

Coral Ltd. is an ;igri"!"llﬂiﬂt_‘}.h COmpany thiat
4 EERRRY ayvoperates in Bo € aoms e i
i e R LHCTILS = ANima

feed and crop protec - :
feed and crop protection Ihe company's i L
. BheabdlCN  and Blevelopment
epartment has been instrumental N its growth and su
* SIOWIN and suceess,

The existing capital structure of Coral [ 1 is as follows:
' LR LG P

Particulars - T'urEunlf {T)

Equity Shares (10,00,000 shares of 7 10 each) | o

100000580

each) 30.00.000

15% Debentures (30,000 Debentures of 7 100

Coral Lid. desires to expand its horizon in breeding hj-_Lrh-—Er'ieIrhng and disease-
resistant seeds for increasing agricultural productivity, The company requires
additional funds amounting ¥ 100 lakh to finance its business expansion plan.
The expected eamnings before interest and taxes after this additional
investment will be T 76 lakh. The applicable corporate income tax rate is 30%.

Thcmmpa ny has two alternatives for raising this additional fund :

Particulars | Plan—1 | Plan~1I

- — i 30% 0
Equity shares of T 10 each to be issued at a premium ol | 30% 10%

= - |

T 15 per share . |
=— e e s e nd 70% 50% |
13% Debentures of T 100 each 1o be issued at par | 0% 0

— e T P 40% |

159 T Sharﬂ?ﬂf E 10 each to be jssued-at par =l il
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Y ou are required to answer the following 4

What would be the Earnings Per Share (El
Plan-1] ?

(A) T437and T4.26

(B) T336and¥ 3.88

(C) T3.90and T 4.10

(D) T4.25 and T 4.50

]:‘J '.1|. [lan. Company i

What would be the Market Price per Share (MPS) of the con

Earnings Ratio (PE ratio) in Plan-I is 12 times-and Plan-111s 15 tin

(AY T46.80andT 61.50
(BY ¥40.32and ¥ 58.20
(C) T5L.00and T 67.50

(D) T52.44 and T 63.50

What would be the financial Break Even Point (BEP) in Pla
(A) T13,75,000 and T 15,10.000
(B) T 13,70,000 and T 15,00.000
(C) T13,65,000and T 15.15.000

(D) 13,60,000 and T 15,08 571

FDT1
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4. What would he the mdifference poing between Plan-1 and Plan-I1 ?
(A) ¥ 3433313
(B) T 34.40.000

(L) 35,15.000

P |

(D) T3522222

8. What would be the Earnings Per Share (EPS) in Plan-1 and Plan-1I at the

indifference point as calculated by you above ?

(A) T1.30and T 1.30

(B) T1.65and 71,75
(€C) T1.50and? 1.50

(D) T1.80andT 1.90

Case Scepario— I1 :

VP Ltd. provides the following financial information :

Current Ratip | sy
S;Iés.{ 80% Credit Sales ) T 150 LuLFi “|
ln"-'eﬁt'ﬁqr Turnover Ratio : 6 Times :
Average Collection Period 2 mtnlili
Giross Profit Ratio H.ﬂ- fl :
Quick Ratio ¥ 1




6.

I'rom ihe mrormation g1ver

(). No, 6and 7

Inventory and Receivables would be

“AH

(A) 20 Lakh and T 20 Lakh

IHI:l

Al

) Lakh and ¥ 10 Lakh

Al

(C) [0 Lakh and £ 20 Lakh

(D) ¥ 20Lakhand ¥ 10 Lakh

Current Assets and Current Liabilities wonld be :
(AY 30 Liakh and € 20 Lakh

45 Lakh and T 30 Lakh

Al

(B)
(C) % 60 Lakh and T 40 Lakh

(D} ¥ 75 Lakh and ¥ 50 Lakh

JKL Company Lid. has current assets of T 1,00,00,000 and

=7 50.00,000. The Financial manager of the compan
aFs 2t = pany
provision for contingencies @20% of working capital,

would be the amount of working capital requirement for the co;
(A) Z55Lakh
(B) ¥ 60 Lakh
(C) 65 Lakh

(D) T 70 Lakh

desires

AcCord
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Case Scenario— 111 ¢

Pifisa e
crmo Neo Logistics (PNL) is engaged in transportati

hag 1t o rLe 2 e Pt .
nas its operational presence-across the country since the vear 2010, In addimion
25 0f priva

10 transporting goods by road, company is also taking services of

pirways as is

ogistics partner. However, there is a sharp decline in business

through airways as sales and profits have dec

ined steeply.

Company also wants to asceriain the market positions of rival companies
having similar competitive approaches in the market with the mtent to identify
the strongest or the weakest players in view of the fough competitive
landscape. Once the market position is ascermined, company would hke to

modify its strategy to adapt according to the changing circumstances.

Technology, ME3Ns and wavs of transporting goods are slso changing

Company wants 1o utilize its resources and capabilitics, not only Lo compite
ficiently, ¥ cpansion with new @

and survive but 1o grow fficiently, Multidimensional expansion w ith new and

. oroved means of transportation and marketing seems inevitable. Company
impr =

has strong presence in transporting goods by road and wants 10 collaborate
2 g

with-some other operator who can bring expertise in transporting goods using

improved technology.




existence. Once collaboration 15 0 platk
companies would like to cater to the needs of transporiing g0 t
and agility. In line with basic principles, the 1eam will also: focus on Dest L
run performance of the marketing system In view of the same 1< |
planning to rope in Varnous social media influencers W h ntent t =
brand image with customer orientanon and spréading & word abou
distinctive services to its present and prospeciive CUSIOMErs
HHSL"-L' on the aboyve Case seenano., choose the comect ans e
0. Nos: 910 13.
The business through private airways is at which phase of sroduct life cvele

(A) Introduction
(B) Growth

(C) Maturity
(D) Decline

weakest competithbrs is known a
b5 KT Ihas ..

10. Tool for identifying the strongest and

(A) Strategic Lroup Meapping
(B) Portfolio Analysis

(C) Strategic Survel |lande

() Swategic A Lictit
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11 i | -
1
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Ll | 1Y
! clive strate
L | ACRCTIVE Siratn
{11 Blend of £
- | Dlend of proactive and reactive stratei
1S
12. . Relatienship being ¢ -
delatignship being condiderdd between FNL and CMP |s indicati
! a1l LR~
10
(A) Horizontal integration
1 ) (B) Merger and Acquisition

(C) Strategic Alliance
(D) Vertical Integration
13. Theactivity of marketing team will be called &=
2 . g,
{A)  Enlightened marketing
(B) Augmented marketing
{C) Differential marketing

(D7 Synchro marketing
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Farm Fresh Ltd., a family- owned organic farming business has been operating . 16.

successfully over the past 10 years. Currently the company is facing stiff

competition from the large farming houses. Hence to maintain status quo, the |

management of the company decided to adopt stability strateg

y. Which of the

following initiatives best support Farm Fresh Ltd.’s stability strategy

(A)

(B)

(€)

(D)

The role played by middle management is diminishing as the tasks perfi
by them are increasingly being replaced by new and improved technoia
tools. As a result, in a thre¢ layer organizational structure, middle 1+

constricted.

Which one of the following is a suitable name to such structure 9
(A) Hourglass structure

(B) Network Structure

(€) Matrix structure

(D) Divisional structure

Develop a new range of organic produce to attract a new segment of

customers.

|

:IJ
Improve functional efficiency of its farm equipment to increase
productivity and reduce cost of production.

Purchase a number of farms to increase production.

Add a few channels of distribution to attract customers in related mar

arcas.

formed

gical
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46. In the framework of si

ategic analysis, which one is a constituent of internal

analvsis ?
- (A) Competitor analysis
(B) Determinants analysis

. r (L) Market analysis

(ID) Scenario analysis

FDTI



